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Q.No: 1  The primacy of fiscal policy was not challenged in which of the following given below?
2428972

Frafafea # 4 frad T i) @ g Bt g 76 & e

mounting inflationary pressures in the United States (US)

A
g T ARSI (J9) ¥ 50 TERPI & T
Second World War
B
foia fay g
the breakdown of the Bretton Woods Agreement
C
el TH WA P g
The OPEC oil shock of 1973
D

1973 & 3% AT FeHT
Correct Ans : B

Subject : General Knowledge

Q.No: 2 Nuakhai is a crop festival celebrated by the people of in the month of
2431028

TR PWERH % A R A O aTe U Bed Sodd ol
Odisha, August

A
IS, SR
Telangana, August
B
AT, SR
West Bengal, July
C
Ui S, e
Rajasthan, July
D

AT, T
Correct Ans : A

Subject : General Knowledge

Q.No: 3 The first Satyagraha movement of India was-
2432433

Khilafat Movement

A
e s
Kheda
B
1
Champaran
C
HURY
D Quit India
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Correct Ans : C

Subject : General Knowledge

Q.No: 4 During Dandi March, how many days take place to reach Dandi from Sabarmati Ashram?
2432449

38 A % SR et oy & it ugen A e A e ¥ 2

20 days
A

20 f&F

21 days
B

21f7

24 days
C

24 &7

23 days
D

23

Correct Ans : C

Subject : General Knowledge

Q.No: 5 Which is not included in GDP?

2434485
S & fordr =nfra T8t foran s 2
Agricultural production
A
P IaE
Computer manufacturing
B
e fmfor
Used vehicle sales
C
M AT 9
Vehicle manufacturing
D

e fmfor
Correct Ans : C

Subject : General Knowledge

Q.No: 6  Who was the Viceroy during the establishment/fixation of Durand line in British India?
2435714

fofesr yra # ¥ W @t @y RuRor & g aRRE B A

Lord Lansdowne

A
ISR R
Lord Northbrook
B
o ifge
Lord Dufferin
c
S sHiA
Lord Amherst
D

s e
Correct Ans : A

Subject : General Knowledge
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Q.No: 7 Which among the following sports is the national game of Nepal?

2437352
Frofafaa & 9 S @ S Jur o1 g I 32
Hockey
A
il
Kabaddi
B
g
Volleyball
C
dfefisifer
Archery
D
et

Correct Ans : C
Subject : General Knowledge

Q.No: 8 In which year did the famous hockey player Roop Singh Bais pass away?
2440895

TR gt et wu Rz 39 &1 59 oy fem & mare

1965
A

1965

1969
B

1969

1973
C

1973

1977
D

1977

Correct Ans : D
Subject : General Knowledge

Q.No: 9  Chandra Naidu has passed away recently, she was related to which discipline?
2441008

g TG $1 719 g H FeA g, 97w faer & wefia o2

Cricket
A

e

Literature
B

wifge

Science
C

fagm

Finance
D

fomr

Correct Ans : A

Subject : General Knowledge

Q.No: 10 Which National Park of Madhya Pradesh recently started Night Safari in March 20217
2441023

A Yo & foh g S A §1a @ § A 2021 § ARe BN YE 3 37
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Kanha National Park

BN UG FAA
Van Vihar National Park
B
o fIER W SE
Bandhavgarh National Park
C
SieaTg AP T
Panna National Park
D

A g SE
Correct Ans : B

Subject : General Knowledge

Q.No: 11 The dargah of Panch Pirs can be found at -

2441207
e UR Y 2 TeT U o Jepell @ -
Deori
A
@t
Dhamoni
B
Ui
Karonda
C
ERis
Khimlasa
D
awemran

Correct Ans : D

Subject : General Knowledge

Q.No: 12 The Kaliyadeh Palace is located on the banks of -

2441243
FIfeMAIGE Woe fud de W R 82
Narmada
A
BET|
Shipra
B
R
Betwa
C
Saar
Tapti
D
=it

Correct Ans : B

Subject : General Knowledge

Q.No: 13 Famous Indian Cricketer Rahul Dravid was born in which city?
2441271

TRIE HRY fhheR ga wfds ®1 o fohg weR | gon ure

Bangalore
A

FER
B Indore
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R

Chennai
C

B

Shimla
D

R

Correct Ans : B

Subject : General Knowledge

Q.No: 14 Hanuwantiya is situated by the bank of which dam?

2441362

gdfaa fpa wiy & R R &2

Tawa
A

ddar

Kerwa
B

Far

Kolar
C

TR

Indira Sagar

1 IR
Correct Ans : D

Subject : General Knowledge

Q.No: 15 What is the sex-ratio in the Madhya Pradesh tribal population (as per Census 2011)?
2441622

T YR BT S e ¥ -3/ guTd T § (SFUAT 2011 F SRER)?

290
A

290

948
B

948

984
C

984

970
D

970

Correct Ans : C

Subject : General Knowledge

Q.No: 16 What was the strength of the State Legislative Assembly of Madhya Pradesh in 1957 initially?

2441732
1957 H EaHT H AL o B AT [IUH T P 2l fopartt of?
288
A
288
231
B
231
c 321
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1

230

230
Correct Ans : A

Subject : General Knowledge

Q.No: 17 The climate of region is most congenial for the mustard produce.
2441794
WG F I & forg &1 P SIeaTg WY 3% B
Bhind
A
fils
Rewa
B
a1
Ujjain
c
IS
Bhopal
D
aare

Correct Ans : A

Subject : General Knowledge

Q.No: 18 Which product is locally known as *Kalimasi’ in Jhabua district?
2441805

e R B 5 Iae &Y R S § et F T 3 S o g2

Black sesame

A
e fa
Fowl meat
B
it A
Black grape
C
I AR
Black wood
D

EacikcEa]
Correct Ans : B

Subject : General Knowledge

Q.No: 19 The Mukhyamantri Madad Yojana, launched in 2019 by the Madhya Pradesh Government aims at the welfare of -
2441842

He YR ISR GRT 2019 ¥ [ $ 78 G veg dom &1 36 s s & fie 32

Entrepreneurs
A

s

Families below the poverty line
B

TR YT ¥ A & aRar

Tribal families
C

Sfeardt uRar

Cottage industry workers
D

FER SaT s

Correct Ans : C
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Subject : General Knowledge

Q.No: 20 Adhai Din Ka Jhonpra is situated in which city?
2442475

3grs 37 @1 giiusT v wer H Ry 82
Agra

Delhi

Rt

Aligarh

Eriur

Ajmer

SR
Correct Ans : D

Subject : General Knowledge

Q.No: 21  WHO stands for-
2423063

WHO 1 UE ¥ §-

World Health Organisation

A
Ty wreg e
Weight Health Organs
B
IO WY 3T
Worldwide Haste Offer
C
TS SIegdell SR
Wild Health Organisation
D

T WA TS
Correct Ans : A

Subject : General Science

Q.No: 22 Should physical exercise be performed as per one’s own capacity?
2423073

1 IR S o &l F SR BT =NfeT?

Rarely
A
e & w
Sometimes
B
it - Bl
Yes
C
&
No
D
B

Correct Ans : €

Subject : General Science

Q.No: 23 Which of the following star appears stationary near the northern horizon?
2425848
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Fofaed & 3§ oF o av1 S fifaw & Fiee R REr ar g

Antares
A
Rdw
Vega
B
am
Pole Star
[o
Hd dRT
Sirius
D
i

Correct Ans : C

Subject : General Science

Q.No: 24 Which of the following does not belong to the cryptogams?

2428818
Frafefea & 9 i fFeim § Hefta 7 82
algae

A
Rt
lichen

B
PR
fungi

C
e
pinus

D
g

Correct Ans : D

Subject : General Science

Q.No: 25 Continuous cultivation of crops makes the soil in nutrients.
2429180

AR Bodl B AN G AL H_ 0wd 9 9 8

Poor
A
e
Rich
B
R
Increased
C
T3 gan
Loose
D
2

Correct Ans : A

Subject : General Science

Q.No: 26 Prokaryotes genetic material is found in what?

2429865
TR Tafie gerd fvwt grar S 82
thylakoid

A
YAAHES
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nucleus

EiRc

nucleolus
Cc

B ESEICE]

nucleoid
D

s

Correct Ans : D

Subject : General Science

Q.No: 27 ___is the monomer of polyethylene polymer.
2430118
il sgee o 9EeR 81
Nylon
A
AT
Polyester
B
iR
Ethene
C
w7
PVC
D
EiCi

Correct Ans : C

Subject : General Science

Q.No: 28 Name the metal used for coating on iron to prevent rusting.
2430364

I Y1 BT TH TS ForGT TGN A W S @ ¥ §9H & e & S 21

Gold
A
M
Sodium
B
aifsaw
Copper
C
HIR
Zinc
D
foiw

Correct Ans : D

Subject : General Science

Q.No: 29 The weight of an object on the moon as compared to its weight on the earth. Choose the correct one in the following options.
2430386

TR R el o BT 4R gt IR 3G 4R Y g 71 Pl el § 9§ e 98 9

Weight of an object on the surface of the moon is about 15 times its weight on the earth.

A

o it TaE W P TG BT HUR Tt R SHS YR BT WIT 45 T8I

Weight of an object on the surface of the moon is about 17 times its weight on the earth.
B

AT T g W A a¥g HT UR qedl TR IS HR BT AT 17 TR
[ Weight of an object on the surface of the moon is about 16 times its weight on the earth.
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5T Y g W Pl a¥g BT 4R gl R IWF HR BT @I 16 T 8

Weight of an object on the surface of the moon is about 12 times its weight on the earth.

AT BT e W e g BT YR 7ol TR S HR BT QO 12 T 8ier 81
Correct Ans : C

Subject : General Science

Q.No: 30 An organism whose body is divided into scolex, neck and strobili?

2430822
T Wi et IRR Wi, T ok Qe & faufea 22
A Tapeworm
B ;g;g:l%worm
c Hookworm

Correct Ans : A

Subject : General Science

Q.No: 31  Which of the following changes in the kitchen is an example of physical change?
2430924

i # Fofaraa & § o uRkadT Wifde oikads @1 IemRor g2

cooking vegetables

A
s g
ice-water-steam
B
Eeiiig
Raw egg made into omelete
C
1 ST HHRE T
Dough becomes bread
D

1T A S SffeT §
Correct Ans : B
Subject : General Science

Q.No: 32 During lightning, the high temperatures and pressures created in the air convert nitrogen into
2431686

farorelt fR & SR, ga1 & fAfifa 3= agwm ok gaE AgcieH & 7} gfafda #ea §

ammonia
A
S
chloroform
B
TIRIGIH
oxides of nitrogen
(o
AREH & SRS
oxygen
D
SfiefieT

Correct Ans : C

Subject : General Science

Q.No: 33 Which of the following blood-groups is known as ‘universal donor’?
2432192

Frofafea & 3 fe vod 9 & Ordifiie gar % = § 9 S g
A o
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o

AB
B

AB

A
C

A
D

B

Correct Ans : A

Subject : General Science

Q.No: 34 The human backbone consists of ____ vertebrae.
2432470
g & 8 A eR A T B B
20
A
20
33
B
33
45
c
45
11
D
11

Correct Ans : B

Subject : General Science

Q.No: 35 The ultrasound equipment works at frequencies higher than -

2436449
HETIRES FUB T o sgfell R 8 Fa 31
60,000 Hz

A
60,000 TF

3,00,000 Hz

B
3,00,000 TE
20,000 Hz

c
20,000 &5
40,000 Hz

D
40,000 TE

Correct Ans : C

Subject : General Science
Q.No: 36 Find the wrong term in the series?
2422599

289, 196, 256, 169, 201

4l T e A 1 Udl TY?

289, 196, 256, 169, 201
A 201
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201
289

289
196

196
256

256
Correct Ans : A

Subject : General Reasoning

Q.No: 37 Choose the numbers which is different from others in the group?

2426470
12 e wg # | faww e 1 79 B2
16-64
A
16-64
9-27
B
9-27
36-108
c
36-108
49-343
D
49-343

Correct Ans : C

Subject : General Reasoning

Q.No: 38 In the given figure, Triangle represents vessels, Circle represents glass and Rectangle represents broken.
2426568

Which number represents glass vessels which are broken?

T snpfa B, Ay Tl 1 vlfAfE Fa1 8, 30 S &1 wiafRiiE a1 iR mad g2 gu &1 Ui @ar g

s(e 3
4 2
B T WS g U B T T BT G §?
5
A
5
6
B
6
11
o
11
5
D
5
Correct Ans : B
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Subject : General Reasoning

Q.No: 39 Select the Lettered pair that has the same relationship as given in the questions:
2426809
Embroider : Cloth

I 3R T T IO F ForgepT Tale Uell & g T w9 Wey d §:

BGR : PUST

Patch : Quilt
A

EERRC

Stain : Glass
B

S : i

Carve : Knife
C

TRpIRI @ AEH

Chase : Metal
D

et : Uiy
Correct Ans : D

Subject : General Reasoning

Q.No: 40  Arun saw Mohit, he recalled “he is the son of the father of my daughter’s mother “who is Mohit to Arun.
2429566

30T A AR B @, I A e oy A G A & o 1 g7 31 iR, R0 § R yeR el 1

Grandson
A
it
Brother-in-law
B
FeR-g-a
Father
C
forar
Grand father
D

I/
Correct Ans : B

Subject : General Reasoning

Q.No: 41 In the following question, a certain series of numbers or letters is given of which one series is empty. You have to decide which of the alternative series of the answer will be us
2433153 pank space that is originally related to the sequence of that series.

16Q18, 18020, 20M22, 22K24, ?

Frfafaa vy #, Temel ar skl 3t T ga & T 3, e § v gew Ol 31 sl 97 79 B § I w0 § 39 e $ oy I Gl ad viF & Im 3 $1 W I5fers gwe
femam ST

16Q18, 18020, 20M22, 22K24, ?

26124
A
26124
25126
B
25126
24F26
c
24F26
D 24126
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24126

Correct Ans : D

Subject : General Reasoning

Q.No: 42 Which answer figure will complete the pattern in the question figure?
2433474

FHH-H IR NPl WE MFid & e ot g Hafz

Correct Ans : C

Subject : General Reasoning

Q.No: 43 A specific analogy is given in the question below. Understand the logic behind it and choose the correct option for the next part:

2434094
Ao|.[peg| «» NOC(] .
S.B-BAS b 3v€ . ?
i frw o e 3 o fafere srgea Frar ran &1 7= e ¥ of o At o) s ¥ fag
Ao|.[peQ| -« [QOC¢] .
S.Z- AS °* 3\7{ . 9
A
v
363
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3og

(93

Correct Ans : C

Subject : General Reasoning

Q.No: 44 In the following question, select the odd number pair from the given alternatives.
2435069

frofafaa vy & fow v fawedl & F favn e gm a1 g

15 - 210
A

15 - 210

12 -132
B

12 -132

8 -56
C

8-56

13 -182
D

13 -182

Correct Ans : D

Subject : General Reasoning

Q.No: 45 Identify the diagram that best represents the relationship among the given classes.
2435705
Skin, tissue, cell

I NG B UG B ol U T AR F i ey BT wEy st uiaffia s g1

I, Hdd, DR

/\w
0O
B p
00
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Correct Ans : C

Subject : General Reasoning

Q.No: 46  Select the option that is related to the third word in the same way as the second pair is related to the first pair.
2438377

Cape Town : South Africa :: Doha :?

I fIwed &1 907 B o R Wex ¥ I TR G ¥ S g g Ugd g § el |
P TS ¢ TFRIUT BN 1 el : ?

Kuwait
A

7

Qatar
B

TR

Iran
C

&

Yemen
D

Hq

Correct Ans : B

Subject : General Reasoning

Q.No: 47  If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?

2438698 i
(4
(2

- B

I T <o BT 2 T a1 W @ 9, 6 & T i spfadi § G wH- 9t guu iy g
A

(4
'\,
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\o»

)
%)

w92
1\

/Q

(a¥p
1y

Correct Ans : C

Subject : General Reasoning

Q.No: 48 Three of the following four number-pairs are alike in a certain way and one is different. Identify the different one.
2438857

Fofafed IR gen-ge # 4 &7 g 5l te e O 90E § iR U o §1 S SRidH TeI-gr 1 999 $if|

16: 36
A

16: 36

25: 49
B

25: 49

48 : 81
C

48 : 81

64 : 100
D

64 : 100

Correct Ans : C

Subject : General Reasoning
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Q.No: 49 Pointing to a girl, Mohan said "She is the daughter of the only daughter-in-law of my grandfather". How is he (Mohan) related to that girl?
2439301

UF TSB! B IR SURT FRA g HIGT 3 Fg, "5 W G139 3Pk 9 o1 98 3| 95 (¥le) IV a5 T H Weifi §2

Brother
A

g

Uncle
B

EIE

Cousin
C

TR T

Father
D

forr

Correct Ans : A

Subject : General Reasoning

Q.No: 50 Amar is husband of Reeta who is the daughter-in-law of Amar’s mother’s husband. How is Amar related to Reeta’s father-in-law?
2439332

SR &1 oy § 9 SR Bt A & ufdl Pl 9 31 o I & TR I 5 UoR defia 82

Brother
A

uig

Son
B

kel

Father
C

forr

Data inadequate
D

3eT S
Correct Ans : B

Subject : General Reasoning

Q.No: 51 Choose the group of letter which is different from other.

2439476

el & I9 TR B I S o & T R

LK3
A

LK3

PON
B

PON

TSR
C

TSR

KIH
D

KIH

Correct Ans : D

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440200 consistent with the main statement.

If I watch TV, I don’t have food.
A. I watched TV

B. I did not watch TV
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C. I don’t have food.

D. I did not have had food.

fou e gy A g FYA R ITS 1% IR FYF §1 FUAT BT BT T A, TeT U8A FUF F1 A0 g B I B, 3R & U OfE F9 Y g1 FF F W
SR H At 3w g, & W o @ A R

A, T3 &t S

B. # &dft 7t &

C. R ury @ T B

D. B @ @ R g

AC

AC

BC

BC
DA

DA
cb

cD
Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440268 consistent with the main statement.

If you pay money for this cause, you will also get benefit of cleanliness in the locality
A. you paid money for cause

B. you did not pay money for the cause

C. you also got benefit of cleanliness in the locality

D. You did not get benefit of cleanliness in the locality.

fow TU vy H gB7 T SR ITF TG IR FUA | FUAI T BT GH T, el U DUH BT dd gEX HUF § 7, IR 3 FuF difdd FU G BT U § 9 31
Tfg oMy 39 3T F o 49 9§, o ol Hieed # wwwdr &1 off fram

A3 HRYT & T 3 B e fan

B30 FRYI & g 3 &7 77 el fepan

C. Wiged # Twsar &1 Hi ar e

D. Higed # WHIE &1 a7l fira

BD
A

BD

BC
B

BC

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440376 copsistent with the main statement.

You either accept the reality or remain in an illusion
A. You accepted the reality

B. You did not accept the reality
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C. You remained in an illusion

D. You did not remain in an illusion

fou e gy A g FuA SR I9F 9% IR FYA § 1 FUAT BT BT T IH, TeT U8d FUF B a0 g FY A 7, 3R D FYF AIfEE FU | ToT FYF § WA 8
39 T1 T RAfAH AT B PR 24 § a1 37 ¥ 5 &

A. 307 GRAfd 31 WieR &

B. MU IRAfddl Bl WIPR el fpar

C. 39 yu & 7

D. M fFl ym AT ®
AB

AB
DA

DA
cD

cb
AC

AC
Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442032
Tired : Sleep
fow g el 9 TeEd Weg BT T B
uT gon : fig

A Rest : Yoga
SIRT : AT

B Dieting : Overweight

: 3 o

C Morning : Walk
LERHERE

D Cloud : Rain
e : |

Correct Ans : D

Subject : General Reasoning

Q.No: 56 ¢; ifv: =35 +15=(3-2
3422344 Simplify: =35 +15+(3-2)

WA DI =35+ 15+(3-2)

25
A

25

15
B

15

14
C

14

-20
D

-20

Correct Ans : D
Subject : General Maths
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Q.No: 57 In how much time will a sum of Rs.15625 amount to Rs.327678 at 28% per annum compound interest?
2423680

IR 15625 F ¥. 327678, 28% Ui I¥ Thgle sal W o wwa & vod 3 Afy giie

3 years
A

399

4 years
B

4 9%

2 years
C

29

8 years
D

g

Correct Ans : A
Subject : General Maths

Q.No: 58 Solve:
2428605
484 +22 +24-55x2+(45%x34+909+9-13%x6+53)

aaaﬁ:
484 +22+24-55x2+(45%x34+909+9-13x%x6+53)
147

147
140

140
137

137
247

247

Correct Ans : A
Subject : General Maths

Q.No: 59 Convert into centimetres.

2429426
12m 45cm : 81cm
FdieR | wed|
12m 45cm : 81cm
415 : 27

A
415: 27
171:40

B
171: 40
573:73

C
573:73
557:72

D
557:72

Correct Ans : A
Subject : General Maths
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Q.No: 60 What number must be subtracted from each term of ratio 49: 81 so that the ratio becomes
2429447
7:9?

vd@ g H 49 : 81 & U H 1 A T e wE ARy afs Srgurd 7 : 9 ¥ S

120
A

120

193
B

193

158
C

158

187
D

187

Correct Ans : B
Subject : General Maths

Q.No: 61 If the average marks of three batches of 40,50, and 60 students respectively is 30,50,and 70,then the average marks of all the students is:
2432566

Tfg 40,50, 3R 60 BHE & & 9 F 30 Sl HA™: 30,50 R 70 T, o Wit BE F oiwa oiw &7

63.33
A
63.33
52.66
B
52.66
60
C
60
65
D
65

Correct Ans : B
Subject : General Maths

Q.No: 62 Six tables and twelve chairs were bought for 7800.if the average price of a tables is 750,then the average price of a chairs would be:
2432605

6 I 3R 12 Hifaf 7800 F WA 7| aft Tw AW &1 3fivId Tew 750 B, @ U PRIAT 1 oivad gea F gme

250
A

250

275
B

275

150
C

150

175
D

175

Correct Ans : B
Subject : General Maths

Q.No: 63
2433098
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What should comein place of question mark in the following number series?

82 + 16% — 192 = 23— 257

et sear-gaar § wafeg (2) F w0 I T A= ATey?
82+ 162 — 197 = 23— 257

8
A

8
B

6

2
C

2

9
D

9

Correct Ans : B
Subject : General Maths

Q.No: 64 The average age of A, B and C is 30 years and that of B and C is 35 years. A’s present age is:
2433860

A, B 3R C 31 3frwrd amg 30 @ § 3R B 3R C 3t i oy 35 9 §1 A BT JAHH oMY B:

30
A

30

20
B

20

25
(o

25

35
D

35

Correct Ans : B
Subject : General Maths

Q.No: 65 A student calculated the average of 216, 'four-digit numbers'. But due to mistake he reversed the end digits of a number and thus his average decreased by 18.5. The differen
2433894 the unit digit and thousands digit of that number is:

TH B A, IR b Bt G & T B T0HT 216 BT Al ST el T Uh TW F i BRI F ) Iac 3 AR 3T RE IUST 3N 18.5 FH 81 1| SH T F I 3/ AR gOIRY af
SR T grT?

4

1
Correct Ans : A
Subject : General Maths
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Q.No: 66 F4-06T43x2-87=7

2433986
44-6+43%x2-87="
37
A
37
38
B
38
73
o
73
83
D
83

Correct Ans : A

Subject : General Maths

Q.No: 67 There are 75 students in play school. Rs 51 are distributed among them so that each boys gets 62 paisa and each girls gets 72 paisa. What is the number of girls in that play
2434829

@ wpa & 75 faendf §1 378 51 39 S W € O Ul asd Bl 62 T SR TAT T B 72 IR | SO W 5w § wrefedl 3 e far 87

30
A

30

36
B

36

40
C

40

45
D

45

Correct Ans : D
Subject : General Maths

Q.No: 68 Ratio of expenditure and savings of a man is 7 : 5. His income increases by 40% and expenditure increases by 30%. Find the percentage increase in his savings?
2434847

TF 3T & T SR T9d BT 3G 7:5 T ST M 40% G Wil § 3R T 30% ¢ Wil §| I9Bt gad 7 Ufawd g 7 H?

50%
A

50%

55%
B

55%

54%
C

54%

58%
D

58%

Correct Ans : C
Subject : General Maths

Q.No: 69 A box consists of one rupee, 50 paise and 25 paise coins in the ratio 3 : 5 : 4. If total money is 260. Find the number of 25 paise coins?

2435451
TH AT H 3 : 5 4% U & 1 IUY, 50 T ok 25 T & Rad §1 Al o I 260 FUd F1 & 25 VY & Ryawt 3 G 719 Bifowe
A 120
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120

160

160
140

140
136

136
Correct Ans : B
Subject : General Maths

Q.No: 70 \What should come in place of question mark in the following number series?
2437945

21 x23-181 —»

260 +350

Rt dear-saer & wafeg (2) S 9 =T AE Agy?

21 x23-181
260 =350

=?

459

459
458

458
453

453
451

451
Correct Ans : C
Subject : General Maths

Q.No: 71 In a certain code language, R is written as J, M is written as U, A is written as K, Y is written as C, I is written as F and P is written as B . How will ‘PRIMARY’ be written as in tt
2434418

@ ABA g W, RFIFFIF, MBIUSTUH, ADKSEUH, Y CFTUH, IH FF w0 H au P I B & &Y H forar Srar 81 ot I goe ursr § *PRIMARY” &Y & forar srem?

BJFUKIC
A

BJFUKJIC

BJFUKLD
B

BJFUKLD

HEGUK3C
C

HEGUK3C

BJSREJC
D

BJSREJC

Correct Ans : A
Subject : Mental Ability

Q.No: 72 If NRC = 35 and CAA = 5, then NPR = ?

2434950

g NRC = 35 iR CAA = 58, dINPR = ?
A 15
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48
B

48

45
C

45

39
D

39

Correct Ans : B
Subject : Mental Ability

Q.No: 73 If DOG is coded as 420 and COW is coded as 1035, then how will CAT be coded as
2434964

I DOG T 420 F T & FHeag BT VIl € TUT COW FT 1035 F T | GHeag 51 oIl ¢, O CAT $T 3 Heds [&dl STum?

180
A

180

160
B

160

80
C

80

60
D

60

Correct Ans : D
Subject : Mental Ability

Q.No: 74 If in a certain code, ARMY is written as 59065125, How will NAVY be written in that language?
2434976

If & fAfyd T urer #, ARMY I 59065125 F =0 # foran ofran ®, I Fe 191 F NAVY I S ferar smem?

705110125
A

705110125

906220130
B

906220130

805110454
C

805110454

504130130
D

504130130

Correct Ans : A
Subject : Mental Ability

Q.No: 75 In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fi
2435487 commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

1. Some grey are blue.

II. Some blue are gold.

III. All gold are red.

Conclusions:

1. All blue being red is a possibility.

II. Some red are grey.
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R fw e oy F A9 o Rw e ¥ R are @ ey 1 30R 11 fau U ¥ een 3T T et Bt e AT B, 4 ) A W qet A i vl 21 & 9 R Y e e e o e e
T F SR el B

F:

. $% I i 1

I1. $ Hier i 31

111. Jft Tiies e B

e

L. +ft +fter ot S @ FurE 31
II. $3 @a A3

Only conclusion I follows.

S Py 1 SR el B

Only conclusion II follows.

o i 1T SRR B B

Both conclusions I and II follows.

QFf Freep X SR IT SRR FR4 §)

Neither conclusion I nor II follows.

T3 e 1 3R T & 1T SRy vt &1
Correct Ans : A
Subject : Mental Ability

Q.No: 76 In question below are three statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varia
2435551 commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

I. Some pink are silver.
II. All pink are grey.

III. All silver are brown.
Conclusions:

I. All brown are pink.
II. Some grey are silver.

III. Some brown are not grey.

A3 T T vy & EF P SR SuF w1g & e 1, 11 SIR 111 T U § 1 siuet T Y Syl @) e W §, A1)  Wa: i 9t @ e vidita S ], ot Aol ek § b R T et A
ey Qi U I SR Fal 8

T
L 39 Tt e 31
11, gt el 91 81
111 9oft freaR 1@ R
sy

1. ooft o1 et |1
I1. 3% 3 RieR 81
1L $% 4 ¥ 78 21

Either conclusion I or III follows.

71 1 Frepy I a7 111 SIS0 &3 g

Neither conclusion I nor II follows.

7 3 e 1 ok T 1 SrgeRr v B1

Only conclusion II follows.

S ISPy 11 SR e Bl

Both conclusions I and III follows.

N sy 1 SR 11T SR v
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Correct Ans : C
Subject : Mental Ability

Q.No: 77 If chair is called cupboard, cupboard is called rock, rock is called bed, bed is called stone and stone is called cushion. Then on which we can sleep?

2439221
IR G Bt S Tt Y, AR BY TgoTT P WY, T B AR B I, AR BT U_R P W SR URR B afdpan Fer smg) R g i w9 wed 12
Rock
A
&M
Cupboard
B
SR
Stone
C
TR
Bed
D
¥

Correct Ans : C
Subject : Mental Ability

Q.No: 78 In a row of boys, A is fifteenth from the left and B is fourth from the right. There are 3 boys between A and B, C is just left to A. How Many boys are there between A and B?

2439545
TSH P TS U B, AT T 158 aaT B IR Y AYT§1 A IR B F HT H 3 TP &1 C, A F Propead! arff oiR §1 € 371 3¢ A F 71 = 82
9!11
A
ot
10t
B
10af
12th
o
129
13t
D
13 df

Correct Ans : A
Subject : Mental Ability

Q.No: 79 Directions: In each of the questions below, a few statements are given followed by some conclusions. You have to take the given statements to be true even if they seem to t
2442167 ariance with commonly known facts. Read all the conclusions and then decide which of the given conclusions logically follow from the given statements, disregarding common
facts.

Statements:

All eggs are tomatoes.

No tomato is a potato.

All potatoes are good.
Conclusions:

I. Some tomatoes may be good.

I1. All eggs being good is a possibility.
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fordan: Tae TG0 71 9oda 997 & o @Y 3R 36 a1g 50 vy G a1 §) oot fed 918 ol o §ed AT &, 7ol 1 3 #d
AT e gt @ gfl @l fessat o afew AR fhar Gl AT @ el o fswat & @ i @/@la & fead sd qeaf &
TR 3T I T FUAT T A1 T F FR0T T &/ Ta Bl

FU:

i 378 AT &

TS off TATeR e AT &)

Tl 3] e )

foremy:

1. T TATCY HeS g1 Fadt B

I1. T 378 3T Gt T Heama=m 5

Only conclusion I follows.

A
e e 1 SrgER FRar g
Only conclusion II follows.
B
e Frepy 11 SRl Fel B
Both conclusion I and conclusion II follow
C
@ 1 3R fivwy 1T ST SIgeR Fd 81
Neither conclusion I nor conclusion II follows.
D

1 o Frspy 1 iR 1 € FISBY I SIgRROT vell B
Correct Ans : C
Subject : Mental Ability

Q.No: 80 IfE =5 and HEN = 27, then PET = ?
2442209

If& E = 5 AR HEN = 27, A PET = ?

31
A

31

41
B

41

52
C

52

28
D

28

Correct Ans : B
Subject : Mental Ability

Q.No: 81 If in a certain code language ‘RAMAN’ is written as '23.5’ and ‘CAP is written as ‘10, then how will '‘CAPACITY’ be written in that code?
2442220

It T YT F1 W1 & 'RAMAN' ®1 '23.5/, *CAP’ ®1 10’ foran < 8, ol "CAPACITY’ &1 39 vl & &4 foran smgm?

48
A

48

39
B

39

49
C

49

35
D

35

Correct Ans : B
Subject : Mental Ability
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Q.No: 82 Which one word can be formed from the following letters ?
2442871

d en mluoc

FafifEd sieri @ S5 W U ea ST S Ul 82

den mluoc

coloured
A
coloured
columned
B
columned
credited
C
credited
cambering
D
cambering

Correct Ans : B
Subject : Mental Ability

Q.No: 83  Which one word can be formed from the following letters ?
2442883

betacir uf

i siefi § S 9 UE eg T S Yhdl 82

betacir uf

bothering
A

bothering

bifurcate
B

bifurcate

benamed
C

benamed

broaching
D

broaching

Correct Ans : B
Subject : Mental Ability

Q.No: 84 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2443009

SPECULATION

Frafafaa fawed § § 98 Wea gHT S AT T Tsg F 31eRT BT TN S THT ST S FHar?
SPECULATION
SPECIAL

SPECIAL
TOPIC

TOPIC
SECULAR

SECULAR
CAUTION

CAUTION
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Correct Ans : C

Subject : Mental Ability

Q.No: 85 Arrange the following words as per their order in the dictionary.
2443052

1. Qualify

2. Quarter

3. Quarrel

4. Quaver

Praffed el 1 wregeir § g 1Y w1 & oraR fafay
1. Qualify
2. Quarter
3. Quarrel
4. Quaver

2,1,4,3

2,1,4,3

2,1,3,4

2,1,3,4
4,3,1,2

4,3,1,2
1,3,2,4

1, 3,2, 4
Correct Ans : D
Subject : Mental Ability

Q.No: 86 Two taps A and B can fill an overhead tank in 15 hours and 18 hours respectively. Both the taps are opened for 7 hours and then B is turned off. How much time will A take to
2423769 remaining tank?

B TA A 3R B % SIRES &F HI HAR: 15 B¢ iR 18 0 F 1R IHd 1 aFI 7al ®1 7 ¥ F g et faam siar & ofik fR B &1 9 3 foar o 81 /W T 3 wA F A B o wwg @weme

37/4 hours
A

37/4 %

13/6 hours
B

13/6 H¢

12/7 hours
C

12/7 8

32/7 hours
D

32/749

Correct Ans : B
Subject : General Aptitude

Q.No: 87 If the diameter of a circle is 14 cm, then calculate the area of the circle.
2426197

g U gd FT AN 14 I B, A 99 31 &% 1 i

324 cm?

A
324 9N
256 cm?

B
256

c 154 em?
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154 Jeine
416 em?

416 T#
Correct Ans : C
Subject : General Aptitude

Q.No: 88 Calculate the cone’s curved surface area if its radius is 14 cm and slant height is 8 cm.
2426222

T F YATGER T8 &F $ 0 B A 3T a1 14 At § SR fovet Sarg 8 i

520 cm?
A

520

460 em?
B

460 I

352 cm?
C

352 FHR

195 cm?
D

195 {2

Correct Ans : C
Subject : General Aptitude

Q.No: 89 Ifsquare’s area is 289 cm? then, calculate square’s edgelength.
2426252

fe gat T ad=wher 289 AR &, ar aet &y fRFa 6y ofars & ot

14 cm

A
14 iz
17 cm

B
17 &R
18 cm

C
18 Fdiriiex
21 cm

D
21 iR

Correct Ans : B
Subject : General Aptitude

Q.No: 90  Which of the following is divisible by 47?
2427651

Fofifeaa & 4 21 47 § =g 2
746251
A
746251
218912
B
218912
141188
c
141188
D
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634590

634590
Correct Ans : C
Subject : General Aptitude

Q.No: 91  Which of the following is divisible by 67?

2427664
Fafifea &4 91 67 I =g &2
803457
A
803457
887655
B
887655
642246
c
642246
790124
D
790124

Correct Ans : C
Subject : General Aptitude

Q.No: 92 A82762518168B is divisible by 12 find the value of 79A + 35B
2427682

A8276251816B, 12 ¥ fauIsT § 79A + 35B &1 A F1d Hifer

210
A

210

320
B

320

710
C

710

401
D

401

Correct Ans : A
Subject : General Aptitude

2431210 If 1"2‘7*_‘; = 2: :z find x.
Tt~ ey T
2
A
2
3
B
3
4
o
4
D 1
https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 33/36

Page- 33


https://applink.adda247.com/d/XhqWf9lSap

Addq 247 Eoogle Play

Correct Ans : B

Subject : General Aptitude

Q.No: 94 Ten years ago, the age of Anand was one-third the age of Bala at that time. The present age of Bala is 12 years more than the present age of Anand. Find the present age of £
2431216
years)

W 99 UG, e DI 3G S TH 1Al P g 1 TP fo5rs | 91 B IdAT oy e 3T aoHr g ¥ 12 99 3ifie §1 3iFiE 3 adam omg 3 S (anf &)

14
A

14

16
B

16

18
C

18

20
D

20

Correct Ans : B
Subject : General Aptitude

221,\:"-01:29256 If a and x are real numbers satisfying a*~! = a2x*1_ find x (a>1)
g a 3R x IR GEard § S ax~! = a2+ 1 & e ) §, dl x A1 AT ).(a>1)
1
A
1
2
B
2
-1
C
-1
-2
D
-2

Correct Ans : D
Subject : General Aptitude

Q.No: 96 If a women can eat 9 orange of 10 inches diameter, how many orange of 20 inches diameter can she eat?
2433816

I T TiRE 10 39 N F 9 YR W FHA ¢, A 98 20 §9 IR 1A fha HaR J1 It 82

1 orange
A

1 9R

0.9 orange
B

0.9 TR

0.56 orange
C

0.56 ¥R

2 orange
D

2 TR

Correct Ans : C
Subject : General Aptitude
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Q.No: 97 The length and the breadth of a plot piece of land are in the ratio 1 : 2. The perimeter of plotis
2433825 500 m The owner sales the plot @ Rs. 20 per meter. How muchmoney does an owner get?

TH 4TS P Ta AR ST $T UM 1:2 T 4TS B IR 500 Hiex 71 W wife 3T 20 T wfa Wex F7a1 §1 mifere 31 fraan S firen §2

600000
A

600000

625000
B

625000

700000
C

700000

650000
D

650000

Correct Ans : B
Subject : General Aptitude

Q.No: 98 z
3436104 A, B and C can work together for Rs. 550. A and B together are to do T of the work.

The share of C should be -

A, 3R C Frer faet S Y 550 T o qu AW ¥ A 3 B e w0 L erwr o A ¥ C
=1 feaT fraem gem?

Rs. 200

200 T
Rs. 300

300 ST
Rs. 400

400 ¥
Rs. 450

450 39

Correct Ans : A
Subject : General Aptitude

Q.No: 99 What is the median of the numbers 29, 27, 32, 23, 18, 18, 32, 31, 28, 15, 35, 30?
2444422

29, 27, 32, 23, 18, 18, 32, 31, 28, 15, 35, 30 Gx@eH H AT FId P

28.5
A

28.5

30.5
B

30.5

29.5
C

29.5

30
D

30

Correct Ans : A
Subject : General Aptitude
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Q.No: 100 What should come in place of the question mark (?) in the following number series?
2444857

1.5,2.3,3.1,3.9,?

Fafafea S gaar & wyares R (2) & R W 1 A ARt

1.5,2.3,3.1,3.9,7?

4.7
A

4.7

4.2
B

4.2

4.6
C

4.6

5.1
D

5.1

Correct Ans : A
Subject : General Aptitude
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